INSTALLATION INSTRUCTION

y.
AEROKLAS HOOD STRUT FOR FORD RANGER 2022 AE RDK I-As

URNIELRT ?}j:@fagvl,u@i umm@*’ﬂﬂﬂu@' '5’114')1«! ‘@ﬂﬂ?mmﬂuﬂ’]iﬂﬂﬁlﬂ
No. Part Name Part No. Qty 1. Uszuatlnenaiuas 10,12,13
1. GAS SPRING AF7R - 1 ]
Installation Tools
2. GAS SPRING AF7L _ ! 1. Open-Ended Wrench
3. LOWER BRACKET RH - 1 No.10,12.13
4. LOWER BRACKET LH - 1
5. BALL STUD M8x1.25x19mm. - 2
6. SUPPORT PLATE INSIDE - 2
7. WASHER M8 - 4
8. SPRING LOCK WASHER M8 - 4
9. WASHER M6 2
10. SPRING LOCK WASHER M6 2
11. | NUT M8X1.25 2
12. HEX BOLT M6X1X15mm. 2

- 30/08/2022-Rev.00



INSTALLATJON METHOD
251150009

No.10

Torque 10 Nm

No.12
Torque 12 Nm

No.12,13
Torque 12 Nm

WANBLAG : TWABRNIRARILAFFUSIT 9 NUATTIBAnAImAa WK
Remark : The installation procedure for the left and right gas spring are similar.

2.

30/08/2022-Rev.00




INSTALLATION METHOD REMOVE GAS SPRING
35n1nanlta

lunsdindasms \arhnazldss iesentiglng
l#naa Gas Spring LH&RH aanfian

In case to Hard maintenance, Must remove Gas spring first.

ﬂ LOWER

WANBLAG : TWAaRNIRAAIRAFFLSIT B MUATT I BRAAIAR DA%
Remark : The installation procedure for the left and right gas spring are similar.

30/08/2022-Rev.00



